Name:  __________________________ Date:  ____________

Mutations Inquiry Worksheet

Consider the following nucleotide sequence:


TTT-CTC-TAT-CGG

1. How many nucleotides does it contain?  _________

2. How many amino acids does it encode?  _________

3. Using your table, decode the sequence and name the amino acids it represents:

___________     ___________     ___________     ___________

4. Mutate the ninth nucleotide in the sequence from T to C.  Write the new sequence:

____________________________________________________

5. Write the new amino acid sequence.

___________     ___________     ___________     ___________

      Is it different from the original?  Why or why not?

6. Now, mutate the sequence to make the ninth nucleotide a G.  Write the new sequence:

____________________________________________________

7. Write the new amino acid sequence:

___________     ___________     ___________     ___________

Is it different from the original?  Why or why not?

8. Going back to the original sequence, mutate the eighth amino acid from A to C.  Write the new sequence:

____________________________________________________

9. Write the new amino acid sequence:

___________     ___________     ___________     ___________

Is it different from the original?  Why or why not?

10. Going back to the original sequence, insert an A before the first T.  Write the new sequence:

____________________________________________________

11. Write the new amino acid sequence.

___________     ___________     ___________     ___________

Is it different from the original?  Why or why not?

12. Going back to the original sequence, remove the first T.  Write the new sequence:

____________________________________________________

13. Write the new amino acid sequence:

___________     ___________     ___________     ___________

Is it different from the original?  Why or why not?

14. Go back and attempt to label each of the types of mutations.  Identify which one you think is a deletion, an insertion, or a substitution.
15. Substitution mutations fall into three categories; Silent, Nonsense, and Missense.  Tell which of the above (numbers 4, 6, and 8) you believe are each, and why.

Silent:
Nonsense:

Missense:
Sense (coding) strand of DNA








